



اسم: _____

التاريخ: _____ النتيجة _____

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{3} = \frac{5}{24}$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{483}{500}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{6} = \frac{79}{150}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{5}{8}\right)$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{59}{135}\right)$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{6}\right) = \frac{1}{3}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{3} = \frac{145}{192}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{2} = \frac{71}{250}$$

$$\left(-\frac{1}{3}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) = \frac{2}{75}$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{5} = \frac{22}{135}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{3} = \left(-\frac{73}{216}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} = \frac{5}{64}$$

$$\left(-\frac{3}{5}\right) + \frac{1}{3} = \left(-\frac{4}{15}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{6} = \left(-\frac{131}{750}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{3} = \left(-\frac{5}{24}\right)$$

$$\left(\frac{1}{4}\right)^3 + \frac{1}{2} = \frac{33}{64}$$